
 
 
 
QUESTION NO 16 By Councillor Booth for answer by 

the Convener of the Education, 
Children and Families Committee at a 
meeting of the Council on 19 
November 2020 

   

Question (1) What assessments have been done of the likely average 

walking/cycling time for pupils at each of the four options for 

GME secondary, compared to James Gillespies High School 

and the temporary Darroch site? 

Answer (1)  

Question (2) How compatible are each of the four options for GME 

secondary, compared to James Gillespies High School and 

the temporary Darroch site, with the '15 minute city' 

agenda? 

Answer (2)  

Question (3) What is the estimated average public transport travel time 

for the current P1-3 years at Bun-sgoil Taobh na Pairce to 

each of the four options for GME secondary, compared to 

James Gillespies High School and the temporary Darroch 

site? 

Answer (3)  

Question (4) What is the estimated average public transport travel time 

from a likely city-wide catchment of each of the four options 

for GME secondary, compared to James Gillespies High 

School and to the temporary Darroch site? 

Answer (4)  

 



Question (5) What proportion of the current school role at Taobh na 

Pairce live within the following distances of each of the four 

options for GME secondary, James Gillespies High School, 

and the temporary Darroch site, broken down by school 

year: 

(a) less than 1km 

(b) between 1km and 3km 

(c) greater than 3km 

Answer (5)  

Question (6) The current informal consultation on GME secondary states 

that, in the short term, "Darroch would be the Gaelic 

Secondary with curriculum support from the surrounding 

Secondary Schools" (p.17).  

(a) Which surrounding schools are being considered for 

curriculum support? 

(b) Would a statutory consultation be required to change the 

curriculum support away from James Gillespies High 

School? 

(c) What is the anticipated pupil capacity of Darroch during 

this period? 

(d) When does the council expect that Darroch will exceed 

the capacity outlined in answer to c) above? 

Answer (6)  

 
 


